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40788 2 LA
PART - B (5%13=65 Marks)
11. a) 1) Apartinllysaturatedsampleofsoilhasavolumeofwecandmassof92g.

The sample is dried in an oven and its dried mass is 73.8g. If the specific
gravity of solids be 2.62, find the degree of saturation, water content, void

ratio, porosity, bulk unit weight and dry unit weight. (6)

ii) Explain IS soil classification system for classifying coarse grained soil. (0]
(OR)

b) 1) Discuss various factors influencing compaction behaviour of soils. 5)

ii) Sandy soil in a borrow pit has unit weight of solids as 26.3 kN/m?, water
content equal to 11% and bulk unit weight equal to 16.4 kN/m®. How many
cubic meter of compacted fill could be constructed of 3500 m? of sand excavated
from the borrow pit, ifthe required value of porosity in the compacted fill
18 30%. (8)

12. a) 1) The water table in a certain area is at a depth of 4m below the ground
surface.To a depth of 15m, the soil consists of very fine sand having an
average void ratio of 0.7. Above the water table, the sand has an average
degree of saturation of 50%. Calculate the effective stress on a horizontal
plane at a depth of 10m below the ground surface. Take specific gravity of

solids as 2.65. ()]
ii) List various laboratory tests for determination of coefficient of
permeability and explain any one method in detail. (6)
(OR)

b) 1) A stratum of sandy soil overlies a horizontal bed of impermeable material,
the surface of which is also horizontal. In order to determine the in-situ
permeability of the soil, a test well was made upto the bottom of the stratum.
Two observation boreholes were made at distances of 12 m and 24 m
respectively from the test well. Water was pumped out from the well at a
rate of 180 litres/minute until the water levels became steady. The height
of water in the two boreholes was found to be 4.2 m and 6.3 m respectively
above the impermeable bed. Find the coefficient of permeability of the sandy
soil. (7)

ii) What is flow net ? Explain in detail various uses of flow net. (6)

13. a) Two footings 6m apart (c/c distance) at the same level carry concentrated loads
of 1000 kN and 1500kN respectively. Compute the vertical pressure at the
following points :
1) Midway between the footings at a depth of 3m below the footing level.
2) Vertically below the centre of each footing at the same depth of 3m. (13)

(OR)
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